normalized X2

[ normalized x? probability |

chiz Chiz_prob

Entries 2022 F Entries 2022

107} Mean 1312 - i-|Mean 0.4776
Std Dev 1 7sal Std Dev. 03587

. chi2 ChiZ_prol

2 ¢ _ | Entries 1950 Entries 1950
10 Mean 1.348 . | Mean 0.4724
Std Dev Std Dev 0.3599

Ratio

70809 1
X? Prob(x?)

< x2/ndf >

== DQM_V0001_R000000001__Global__cmssw__RECO

=== DQM_V0001_R000000001__Global__mkFitNew__RECO

W

]

.

Ratio
=
N O
=

< x2/ ndf >
< X2/ ndf >

Ratio
Ratio

107 1072

-1
AR(track, jelts)



	Contents
	Page 1


